IV Semester Three Year LL.B./VIIl Semester Five Years B.A. LL.B./

Duration :

B.B.A. LL.B. Examination, June/July 2015
ALTERNATIVE DISPUTE RESOLUTION SYSTEMS
(Clinical Course — Il) (Course — 1V)

2 Hours Max. Marks : 60

Instructions: 1. AnswerQ.No. 9 andany five of the remaining questions.

2. Q. No. 9 carries 15 marks and the remaining questions
carry 9 marks each.

3. Answers should be written either in English or Kannada
completely.
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What is Alternative Dispute Resolution System ? Explain its
advantages and disadvantages. Marks :

TOIRFOD QT VEF O TG NOTTER 9 ST LRBRUT TN
STRBRUINTR), IFO.

Explain the composition of arbitral tribunal. Marks :
GRS T,030m0IOD  TeIFOIR V0%

The role of the conciliator is the key for the success of conciliation.
Discuss. Marks :

ROOTETS TR ROGRSE OB T[RVDWT R, R

Explain in detail the different phases of negotiation. Marks :

Roposs (Negotiation) Q0T ToSRER) TN QFOR0.

What is mediation ? Explain its essentials. Marks :
dadesﬁ’%% (Mediation) «0ow@des0 ? ewd @ﬁ%éémf@& DWORD.
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Q. No. 6. What is lok-adalat ? Explain the advantages and disadvantages
of Lok-adalat. Marks : 9

DT 99, CIROOD QOTTEI ? WRTD @Soimmjad SRBRUE R
@mmm@ém@ QDROXO.

Q. No. 7. Explain the role of conciliator under the Industrial Dispute Act 1947. Marks : 9

BAERENT QeRENY @O 1947 T ©R0HY Fogamsed (conciliator) &
TRBTI), QOO

Q. No. 8. Write short note on any two of the following : Marks : 41/2x2=9

NS ez ATEE OO 83078 QB0 :
a) Mediation process
dxﬁg?&@(Mediation) STORY
b) Termination of conciliation
ROTT BBTEATT TVTYOWL
c) Qualities of a negotiator.
IROROTOTTIT NOLINT.

Q. No. 9. Solve any two of the following problems. Marks : 71/,x2=15
3N 35T QBT AN GUZORD.

a) ‘A’ is appointed as a sole arbitrator by ‘B’ and ‘C’ to settle
their dispute. ‘A’ and his wife invested in ‘B’ s company. ‘A’
gives verdict in favour of ‘B’. ‘C’ discovers this after two
months of the award. Can ‘C’ ask for setting aside of the
award.
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b) An apprentice-deed between a minor and his employer

contained an arbitration clause. Is the clause binding on the
minor ?
B, VORI WY J0IRERTI =G, BNTOT TTWed 5T0IY,
DOTRBOD YVTeF, TROOTITT. B3 YVTFF, BOTOPIID
PR ?

c) Banashree and Vanashree settle their dispute in the lok-

adalat. Lok-adalat passed award. Aftewards Banashree wants
to challenge the award. Advise.
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